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Method

signature rﬂ'tu rm method argument argument

\ \ name\ type\ vﬂruibie

public static |double/lharmonic|(|[int n|)

{

local ~_|double sum|/= 0.0;
variable | for (int i = 1; i <= nj i+4);
method __~ sum += 1.0/1;

body return sum;

X

return statement




Method

/*

*

*/

A I - Hello2.java

public class Hello2 {

public static int sum(int n, int m) {
return n + m;
1

}sum 0| 2~

/I main() HIAE 0| A Aol AlZ}

public static void main(String[] args) {
inti=20;
int s;
char a;

s = sum(i, 10); // sum() H[2E ==

a="7,
System.out.printin(a); // =it '?' 2 H ==

System.out.printin("Hello2"); // "Hello2" &
System.out.printin(s); // d s 4t tH =

main 4~



N A=

O Lab2 — Basics (static method, User Input)

1. Oj 7 H =7} = forecast &5 2t/ StEL | O &t =l= H| 2 ==0|H OfH HeHE
Ct. 00| A 100 AFO|Q] M4=E 7} = Random =22 9| nextint(101) AFRSHLE
forecast()

Chance of rain today: 59 %

2.5t 79| HA+E HiE= deumalVaIue E.—JF% Ahdstel A 3R Xt2|0f| A Br= 2ot A
S returnSiCh A= 222 A0 i Math.floor &2 AFRSI0 =X A ==X}FO| H}
= 0 AAE A 0|3} A Xfﬂli = 2T}

System.out.printIin("5.983 Decimal value: " + decimalValue(5.983));
5.9832 Decimal part is: 0.983
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O Lab2 — Basics (static method, User Input)

3.5t 7He| =A+E UH7HE|¢§ Zt= underlined & % Ardstel FOo|T & 0 E EXHE
2 SO O 40| & H2 et It B} EEf S HAZ oref ol & E=Stef.
System.out.printin(underlined("aStringThatLooksLikeThis"));

a_string_that_looks_like_this
4. 5 M| M= D7 HE FSt= bacteria &5 AMdstet. A HR= 2HH| 2|07 & 7Y
ol M2& HIH|2[o0t2 E&k|= O d2l= AlZHE)S LIEFLH= minutes, & BIMl= S0
Zoter H 1I 2|0t M|Cf ==& X &S3t= bacterium O|C}. StLEC| BHH|2|0t= A&t D E & &
H2[of= 2 7[710] EE [ &af H25| & 7H0| Sref|2[OtE 2 =IOt 7St

bacter|a(21, 3);

after 21 minutes: 2 bacteria
after 42 minutes: 4 bacteria
after 63 minutes: 8 bacteria
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O Lab2 — Basics (static method, User Input)

5. Ml ZHel E== 07 H==7} }= convertToCopper &
|

(gp), T+ HM= 22| (sp), Ml HM= 72| M2

7O A2t 2| = "HeteEl & 7HK|E S et

T2l =2 570(cp) = = =2 17l(sp)
=2 1070 = ==t 17li(gp)

2|2 2| sHe| 5 LiEfL= HE d=
A dster o g BA 2| & 2Tt =(g
Z(sp)2 =2 Hetstd, A2|1 52 TE|(cp)2
convertToCopper(5, 10, 7);
convertFromCopper(1107);

5 gp, 10 sp, 7 cp converted to copper is: 307 cp

1107 copper pieces is: 22 gp, 1 sp, 2 cp

0
i

== Adotel A BMi= a2t &
T=(cp)= LIEIHCLCE O] &= 4 &
S| 2= Cr=1r €Lt

F|St= convertFromCopper &+E

Hetol Chx, @2 A2l 45 [0

oLt
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O Lab2 — Basics (static method, User Input)
6. Ml 702l OH7HEH=7} QU= repeatWord &5 2Hdslat.
Hrow) =, Ml HM= L(column) £=0|C}t. O] Tt 3l O
A= EHOE Ql2listH 2f o= & o7 H2F S ot 2=t
repeatWord("Carrot", 3, 5);
CarrotCarrotCarrotCarrotCarrot
CarrotCarrotCarrotCarrotCarrot

CarrotCarrotCarrotCarrotCarrot

7. 5 74| Oj7HH==T} Q= repeatCharacter -5 st A M= THOi(
e 2t XIS BHESHS £XHS LIEFLE H40|Ct 0] B4k 2 3
CHO1 £ dretotht 25 42 ofdl Ol & H=0tE)

System.out.printin("Carrot Repeat each character three times --> " +
repeatCharacter("Carrot", 3));

Carrot Repeat each character three times --> CCCaaarrrrrrooottt
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O Lab2 — Basics (static method, User Input)
8. T A= /5 Foll X& o4 BE 2= Q4|St= textTriangle &5 A-dotcl.
textTriangle(3);
X
XX
XXX
9. Bt D7 H==Ql percentLean= F/5t= beefType &2 Zd35tat, percentLeanOI 78% =
Ch 22 ™ "Hamburger"E gt 78% 0|4 85% O|¢HQl 32 "Chu ck"2 B2t 85% O] & 90%
0|2t2 "Round"E B2t 90-95% Z B2 “Sirloin“& Htgt 12| " Unknown " & BHaoHC}
“12|21 HAMBURGER, CHUCK, ROUND, SIRLOIN, UNKNOWNZ 7‘|°4(enum)O§ = O A]
A& 5= beefTypeEnum &5 AH45t2}
System.out.printin("BeefType(95.1) --> " + BeefType(95.1));
BeefType(95.1) --> Unknown
System.out.printin("BeefType(87) --> " + BeefTypeEnum(87));
BeefType(87) --> ROUND
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O Lab2 — Basics (static method, User Input)

10. & 72| M= 0707t = isNormalBloodPressure &% H
7] @Y H=4o| XD =Xt top), F W= =7V AEY =49

H
bottom)& LIEHHC} =37] @ @f0[ 120 O|2F0| 1 =7 7| HH0| 80 0|2t
o) &= trueE BhetolC 2 X| A9 M falseE 2r2totCl

y~ 1
bl

X

OF
o

O T — ! =
Jd2|3, D774 9= doctor S-S RHASIE} O] Sha= AL XIO|A 2257] & EHAH7| &
& =X (top, bottom)E Y =SIE=F QFotCt I CfF isNormalBloodPressure && Al

n CC - u

23510 "o] MAOIX| TEHSE, “Your blood pressure is normal.” £ “Your blood
pressure is high."S ZICt AIEAL Y H2 XEM,

doctor();

Enter your systolic reading: 119
Enter your diastolic reading: 79
Your blood pressure is normal.
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